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4) Fujiyama mountain 9) Highest polluted country- china

10) The Equatorial line

5) Peru



Murks: 100

|l|s.l.|[1'I-!1' 3 hry

Instruction: 1) Figures to the right indicate full murks.
2) All questions are compulsory.

3) Draw suitpble diagrams wheney er proessury.

O.LA. Study the map given below world map wad answer the follwing guestions.

LANDUSE BY CONTINENT [

L)W hich 1y pe of eartographic technijue used in this map? i
2y Wihat is the theme of the map? (1}
3y which continent have highest ares under forest? Why? (2
4) Which continent is least area under erop land? Why? (2)
%) Which continent have largest arca under pastures”? )
6) Which two continents have least arca under forest? )

- Asia? (1)

7) What is the approximate percentage of nrea under other land use for

Q.1.B. Mark the following on the outline map of World supplied to you: (10 Marks)

1) Rocky mountains 6) Banghkok

2) Ganga river 7) least pupullleﬂ country

3) Sahara desert 8) London

4) Fujiyama mountain 9) Highest polluted country- china
5) Peru ~ 10) The Equatorial line



(.2. Attempt any two from the following: (20 Marks)

a) Define *Environment®, Discuss ity nuture and seape.

YWEhvi

b1 Briefy cyplain how location of & country is voe of the most important COMPADENLY o i

environment,

¢) Define ecosystem. Explain the concepts of Toad cluain, fomd web and ecalopicnl My rany

with suitable example for ench.

€23, Atlempt uny twe from the following: (20 Marks)
u} Describe thie main cavses of deforestation in the worlil.

1) Befine the term “nutursl resources’ and classify them,

o) Fxplun the factors which imflueace the utillsation af Researces,

(2 Arempt any twa from the followinp: (20 Marks)

w1 What s pepulation density” What are the factors which affect the population

distriliation?

1y Define the teem HDL Wy §s human developmient necessary™
ol Eaplein the causes and effects of population ¢xplosion in India?
05, Attempt apy twio from the following: (20 Murks)
w1 Definte the urbanization, Explain the causes of urbanization.

I} Deseribe the term migration. kxplain the types of miprativn,

¢} bxplain the prihlem of urbanisatieon,
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Murks- 100
Total puges-2

Time: 3 Hours

N.B: All Questivns are compulsory.

Q.1 (#) Select the most appropriate answer from the options given below (Any Temj:
IWTO replaced GATT in the vear —

a 00 b 2K ¢ 2003 d. 1995

i 15 the example of internal growth stratepy

& Merger b Product development ¢ Jowt venture o, Praduet siovadion
3. industry provides intangible poods.

4. EBxteactive b Manufactunng ¢, Service d. Construction

i _is not aids o eade

& Insurance b, Wholesale trade ¢ Transpuortation Hinking

5 Project reportis wsedas by un entrepreneur.

a. Bank document b, Communication taol Project planaing tool d Personal wse
. Truding blocs resulo _ereation,

A [ Espates b Restricted ares o, Trade o, Investment

T The key strangth of 15 e of entreprencirs nagEin
a Mimonary b l__!'iﬂpn[Tuninf . Adventurer o Decision nike

oAl Thdvam Nidhi scheme for wemen entieprencer o implemente s
p REIR SIEL e SIDCO d, NABARD

HSWOT s refemed as o o day,
& SWIFT b SWOT . SWOC . SWAC

1 scheme is specially meant for women enirepreneurs

1. DBK b, MDA ¢. CBK d. TREAD

[1. Project planning is summarized in

1. Project report b, Feasibility study . Legul report d Techaical reporn
2The isthecompany’s charscict

. Articles of association b. Memaorzndum ol association ¢. Prospectus o Bord e

1.1 b) State whether the following statements are True or False (Any 10):
. The modern concept of business is concentrated only with profit.

. Al present there are 17 members of European Union.

- Environment is an MN“W
Trade Area,

]
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~petani factor 10 e cotsidered i plant location
5 an 1M o
# Taw and order siruatioen i3 =
b weall
* Entreprenedrs creals econy . and SOEI
= L= 34 exISUNE ,,-L_r;m::i.ﬂl.'ln
Im?m‘-‘“’ is &0 C"ﬁL'CPfL':}[‘_‘—' \ll'l]ll; [
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¢ Sooul cnireprToenrs are profild

"

i eI
10 Human resource dey clopmed & OO

extermnal to the finm
¢ only to the entrepreneur

1] A prorectrenort 13 of :mp—-‘-r:.im
. R
13 Carmmeror 1= coneermed anh rade and aids-ta-trage

0.2, Apswer amy two of the following:

21 Detine business and expla 18 main funstioms

n} Explarm =leps 15 sefting businesy ohlecives
-1 Bxplain the tnpact of [iberaliz: Wiuty ot DUSINEss,

Q3. Answer any two of the iu[luwmg
il Pusiness spvroLment.

a) Fxplain the compongnts ul e
By Explain the mmpact of educationa!
¢} Fxplain the impect of trading

ur-. ronment oo business,
on Indign heononmy.

Q.4. Answer any two of the followlng:

3) Explain the business planning proeess.

bi Descrie the factors determining lecation of 2 busine

he provedure of livencing and registration of

52 unit,
o1 Fxplun & business wut,

(.5, Answer any two of the following:

a) Define the term entrepreaeir and features of entreprencurship.

b) Explain t2e different types of cr'ru‘urcrv: irs,

¢} Discuss the various promotions! inventives offered to women entreprereurs.

Q.6. Write short notes on any four of the folluwing:
a) Glebalisation

b) Merger Strategy

¢l WIGQ

d) Pre-feasibility study

¢) Inrapreneur

f) Competencies (qualities) of entrepreneur

4 with the analy=s of maurket external trade 'm’ul'llq‘.



Total Murks: 100 e ¢
Duration: X hrs
MNa. |||']'r:1gf~.':
Note: 1) All questions wre compulsory,
2y Draw ncut diaerams wherever nogessan
3) Use of simple calculator is allowed.

4) Full marks are mdicated on the fght.

Q.1 A) Seleet the correct vption and re-write the statement tany 140 1y
Ly Integration of economiv theary and busimess praciice is o s S e

AJ Business Economics ) lathan Feonomy 7 N !

2) What is the formula to calvulate slope of a straight find?
A) AY/AN B AXIAY CrMRBo-ME. 1y ERD
) What does this dingram signify?

¥ sty (v w1 Leh

i k7]
! 51
Price |
M
Y
0l w 3 ¥
Quantity Supplied
Ay Decrease in Suppls By Increase 1 Suppiy C) Extension in Supply O C ooy

4) A demand curve differs from a demund schedule becanse o demand curm o

A) holds the number of buyers eonstang, whetgas (he demand sehiodale Gl e <o o mabos,
¥ary,

B) holds resource prices constant, wherens the demand schedule ol theps

o - i arpsI el Y1 le e i g - 14

C) represents one firm, whereas the demaed schedule represents 21l e in the e

D) is 8 graph and the demand schedule is o able,

3) The current price charged by a local movie theatre is Ra 100 per ooy At the curren
ticket price, the theatre sells 300 tickets per showing. If the theanre rajyge ticket prices ¢

Rs. 110 the theatre will sell 270 tickets. Using Arc method, caleqlag, 56 cha intrs 1;
demand. : Voo

A)-0.90 B) 0.87 €040 D) 1,104
6) Suppose the cross elasticity of démand between Margaring angd butteris 2.58. I the nrie
of butter riscs by 30%, what w e percentage change in demapg for margarine» o

A)77.4 B) 674 C)874 D)97.4

Q=ML KT)lsa production function
L}M run Production Function B) Long Run Production Function
@mﬂmhodm&mﬁmﬂm D) Discrete Prodyctiog Pinctian

e .u“.“uw“ returns “.mh hwhmuﬁ luh&Eq“tn[ i.‘I[I-q uant
=N i )

f

f TaEr

L mE*39
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(') Decrease D} lncredse ad decrease

A} Remain constant B} Increase
pines__——
9) When TP falls, MP beeoiDe— o= R
A R Positive ) Lem
A) Negativ . |
10) is u direct contractual payment and money does flgy g
-
— C} Imphicil cost D} Keal cnst

A Ixplicitoost  B) Social cos!
1) Formulp forMCls__ "
A) QP By TCQ ¢y TCn-TCo-1 DYVTRAQ

STl T g oy )
12} Which of the folluwing sintement 1% imcarredt

| PR WL B TRy
A Bresk even point petlects no prolit BO Jos
) Break even paint is a po.nl at which heses end & prefits stan

1 At break even pomt, TR-IU

™ Ar hreak even pl.'l;.-..'l'.'. TR-1L [

0.1 By stage True or False (Any 1 10

11 When finms Incregse the curput i chosks, it s called merginalism.
20 A supply cimve shows the nelation between the quantity of 8 poad supplied and incoma,

3)I7 price folls and guantity demanded inereasds, this ix represented by g movement

given demand curve,

A1 Active forecasts o 1o predict the futere situation Iy .-icri-;:'.--.g tew policies and actions,

1 When price elastcily of demand <1, MR is negative.

t) In ease of luxuries. income elasticity of demand s greatér than 1 ond the demand d&

fiuter.
71 Isg-guants are convex to the vrigin dije 1o dimirisking MRTS,
8} Family of iso=quarnts is called s an isu-yuant map.
9) Pallution Isa type of intems! ceonomies of seale;
T03 The next Bast oltermnative foregone is called gs YppOTriuBity casl
11 Rent for the land owged by the anere preneus hintsell'is an example of implicit cost,

"|' i FRRREE ol g T T i ) i - . .
21 The vost origmally paid 1o aequiee on usset 1s eallud as histories! —

2 A) Define Business Economics. Explain the scope of it 1
B) Explain the concepts- Equalions & Function with suitahte examples. 03
OR
2 €) Distinguish between Changes in Demand & Changes in Supply 10
D) Attempt the following- a5

i) In _
ﬂ!hcﬁ!ﬁf@ﬁﬁi i g B demand fo brinjals is given by Qd - 200 -25 P&
and Q is the quantity 5 uiﬁ :"'i‘: by Qs = 15 P where P is the price per kg of brinjuls
of brinjals? X8 per day. What is the equilibrium price & quastity

) Define 8 supply schedule, Create an imas: ol schee
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Q.3 A) Define Price Elasticity of demund Expluin its types with suitable dit {17
____B) Solve the following cose study _ B e 7 '
| Products income elasticily of demunn
|Riee ~ |oss
|_‘|‘|'.!I|'lf S _"[{”_ N - .
| Cigarettes e 305 A |
T S . ow = |
i Flour BRIT = - p Tr|..'w=fuc['- 5 Tased

T ine e e e T e T e e Tt e T
IT income rises by 12% what will be the percentape change in SR 11 eesitios. Luxures,
on their income elasticitics, also find out wha type of ponds ey ares feeesaiie

Comfort goods, Neutral woads, Inferior goods

oR
v H v [§143
Q.3 C) Define Demand Forecasting. Explain the types of it hod
: i s — - ¥ - [ [
D) Calculate the trend values apd estimnte the seale for 20023 by using lenst squares I.li.'[ s
of demand furecasting i : - .,J,f
Year | 2013 [ 2014 , 2015 [ 3016 | 2017 [ 2018 | 2019 | 2020 | Ju2y | 2022 | 2013
o 3 = - —4— . b e YT TR d
| Demand | 400 | 00 | 650 720 | Koo | 4D ‘L.uu. l pana | 1 | 2000
Q.4 A) Explain the followinp prapertics of iso-yuunts U8
) Iso-quants are non-intersecting.
by Iso-guants are oval i shape
¢) ifigher the 1so-guam, higher the autput,
B Describe the externa economies & Jdisecononies of scale 7
{3
()4 C) Explain the Law of retums 1o Sonte with the help of 1 QEAR T Ng

D) What 1s an tso-cosy line? Derve 1. Also. lusteae preducer’'s eguilibeinm with a suituble
i 1 SUlynde

Q.5 A) Explam eny seven types of costs 07

. ~ e anel &l it 1 e Bl o
i3) Complete the following cost schedule and explion the belizviour af the vast carvey in the

short run by drawing self-explanatory disgrams o
“Outpur | Total | Total | Total | Average | Average | Average | Marginal
Fixed | Variable Caost Cost Fixed | Varighle Cost |
Cost Cost | | | Cost | Copt | |
0| 2000 R R (e
30 [ s00 T ' B N et
100 ' 2700 B
150 i 850 | e
00| 3000 ST -
250 | | 1250 i [
300 900 || —
350 2550 i R
400 5600 | ——
B OR ——

Q.5 C) Expluin the chamcmri!ﬁa-'ﬁfﬂ::le long run cost curves.
D) Draw Break-even chart & solve the following case study:

Suppose the selling price of & bag is Rs.100, Varinble cost = Rs.10 & fixe il
Calculate the BEP in terms of sales value,

a7

s Rs.10,000
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0 s hir sdentidcatian
Lapital eppeadityre s Caprndifyre
©oAbne i

M- urring

(d) We BT averape

(b) Racurning
ld} Wastefy!

! Az o el 3 now Wi 1o the faciory - Ry 40,000

20 Heenud expand ture

Wherres reveniue exparaditure

[t} Capita! gxpendiryre
{rl) None of thie gboue

TAETL bgtarles By 5,00 appear mA's Trial Balance Thooe will BpEoer

TTATTIR Ao
o Halan o Sheer
it 15 allacated on the basls of ot

M Of ety

Wl shrdres

(L) Profit dand | pcs Acrnng
lerl Mamutacturing Account

eich depar mens

it Ma.ef eplapees
[d) wwages

in the purchase orico pdyiable o Tull payment = made irusedia),

130 Merkepr Prge

tl e Pyrehase irce

18] State whether the following statements are T
iU Acrounting policies are same for &l contems
1AL mandatary undor the companies At
'A%} s agplicable to mineral oll,

" Iventories are assets invented by the propne

|b) Cash Prire
(A} Down Fayrment

rue of False alter cewriting the spme, {Any Ten)

tor

SNt
| Al danls with revenue arising from lease agreen

| A% % dops not deal with Insurance contracts
s not deal w alised value, whicheyer is higher

nvantories should be valued 8t cost or net "'?‘I
b Tamra Wnrhvlri—pmgl'ﬁi’ is traated as capita

IH--;{-pm._. earngd in current Whu! hot ye
' iesd fasets are stated in the Bala S

1 recd
1 at their mﬂ[ﬁﬂt waluse

on to the general
savount payable by the birer

prh:mufe
glyed is ShOWN 35 3ot i the bl yee shag|

profit and lass aceount.
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Fiuratian: 2 ¥ hrs,

Marks: 75

NOTE: 1) All questians are compulsory.
2} All questions carry equal marks,

.1 (a) Choose the correct alternative (Any Eight): os

Tribes are relorren as o ~in the Indian Cormstidutan

{Adivasss, Scheduled Castes, Scheduled Tribes}

JoU'rhan sorlany s ) - In nature
{Homopgenrous, hoterogeneous, diversity)
3 tirainess 5 catsed due Lo panetic factors

[Bensory nedral Acquired, Congenital)

i 1 systermn of structured Irequality which rates apd ran

membars of 4 cocety based on delinile rrooeng
ilemography, Drversity, Secial Stratificatsan)

5 af the Indian Constitution stazes 1hat untachabilitg |

aachished and 1ts practice inany form is forbidden

[Artict= 17, Amicie 21, Article 24)

b, cefers ta the attachment towards onas"s gy 1 nn
{fezoaalism, Linguism, Communalism)

P ___Justice means that evervons must Dave cyf) i
apportunity ta sarn dally bread and satisfy basic neesds

(social, Economic, Palitlzaly

8. The Constitution of India confers citizensbip

(Dual, Single, Tnple)

S The maln anm uf every political party 1s to pramuote -

(Secularism, Socialism, National miterest)

L0. The president of Zilla Parishad has a termaf __ VEArS,

{Two, Two & Half, Five)

Q.1 (b) Write True or False (Any Seven) 07

1. The Indian languages belong to five language farmulies
2. Moksha refers to the state of liberation.

3 Max Weber identified three dimensions of social stratification, which are class,

status and power.
4. Mental disorder and mental sickness is not one and the same.

5. Andhra Pradesh was the first state ta be carved out on linguistic lines in the

country.
6.Endogamy s the essence of Caste System.

7. The Indian Cﬂniﬁtmmtﬁ universal adult franchise.
8. India has a uniform civil code.

’ '|L.. m gg-
13
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L L . ”I'll rived WS
‘ types ol wistally « balleay i
i e [auses and
Q.2 A. Explain Lhe Li i "
a-econom proldeme foced hy WOMen (ning),
Q.2 B. Explain the soclu-cconomi g §
4 1 TN C ”| T . i
Q. 3 A. Discuss [Inguism av o base facinter gronp contlice and sugges) 15
measures to resalve bitgalstic conthor i india.
(IR
.3 B.Discuss the mcgualities catmed by The caste systen Fxplon gy 18

Cansequences of caute conthels mindia

Q4 A, Lxplain talerance and communal irmooy a4 crocnl values in Ineliar 15

sOCioty.
OR
GedB. cxplar tne taliowang featuces of todion Const tutug 15
3. Fefderp] syatam
b Bartimnentary systop
c. Types of emergencles
Q.5 A Wrna a ditiled note an Urban Loc ol Solf Coverro e i 15
ORr
Q.5 B. Write short notes an (Any three) .

- Fegonal Variatinns . intdis

2 Wit Rohgious Sty

Signibcance of Woman in ki ob
Hurtrayal of women |n media

b Chirartarntics nf Casee

4
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1“[1 3 | K Ao B, =
NOTE: 1. Aremp all guestions.
> Fagures 10 the right indicate full )
i Bepmin every letker onen fresly [retde o
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(11 medsum (11} pojse (i) clinme!
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(1) Hapties (1) Kinesics (i) I

jon is also 05

(¢) Lateral communicat
pward (iii) H

(i) Downward (ii) U

(Al Write short noies on the

(8) Process of communication
(b) Ol method of communication
(¢) Horizontal channel of €0
(d) Advantages of social 7
(¢) Using Grapevine €HOE2
(f) Importance of cOMPREES

el

Sneat e priative B e aes

e minzaning discplioe
channel of comiueatin
Hart zonial [1v] Grapeyine

aad Tl ampRel e

Cimestheti i Tty
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codnmy fived 1
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he  tenm Ceenmunis” o means W

gy | revak e ponuITLE

ipands and arms, et es Lven leys and

]

cammunicatien.

url;?rua] (iv) Grapevine

(20)

W (any four):



Max Rarks 100

a)

d)

Ty ) Hhors
1) All questions ae compulsory

2) All questions carry pqual macks

2} Frgures 1c Ihe righl Indicate maximuim nare’ alotse Lo b nubs guissfien

3 Useof a simple calculator 15 aliowed

4) Graph paper will be provided on request

SECTION!

Attempt ANY FOUR of the following. (20 Marky)
Celina invested In shares of a certain commpany of fave walue [is 10 Tho
company declared 794 dividend and she receved a total dpgdend of [2a 12 0
Find the number of shares she bought

Shomila invested Rs 48,572 in equity shares of s 100 each at markel price 0]
Rs. 162 each After recewing 11% dwidend, she sold shares al Ra 180 each
She paid brokerage of 294 on each transaction Finrd her total gan

Kedar invested Rs £0.000 in 3 Mutual Fund cn 20th Apnil 2022 with AV af 1
157.2436 He redesmed all units on 17th Augus! 2039 and recened 2 52% ral
of return on his investment. |f there were no enlry o exi (nads, find the NAY on
171h August upto 4 decimal places

Rohit invested Rs 16,000 in a Mulual Fund on 3rd Apal 2022 with NAV ol B
25 1092 and entry load of 2 269 of the NAYV Ho sold all the units on 171
September, 2022 with NAV cf Rs. 87.2516 without any ext load Find his total
gain

Nadeem invested in a systematic investment plan of a Mutual Fund, a fided sum
of Rs. 10,000 on 5th of every manth for 4 months The AN on these dates were
Rs. 3426, Rs 48.12. Rs. 20.24 and Rs 41.E5 The entty lgad was 2 25%
through out the period, Find the average price inclucing the entry load. using the
Rupee-Cost-Avaraging Method

Attempt ANY FOUR of the following. (20 Marks)
In how many ways can the ietters of the word "FAI HER" be arranged? How
many of these words pegin with A and end with R?
A group of 10 people contains 4 males and G females. A committee of 5 is 10 be
formed, find the number of ways such thal the commities has all famales
How many different numbers of three digits can be formed with the digits 1.4, 0
7.8.81if
a none of the digits get repeated.
b. the digits can get repeated.
Solve the LLP graphically.
Maximize
Z=3x +2y
Subject to the consiraints
Sx+y=<10
x+y=<6
xz0,yz0

A cracker manufacturer produces two 1Ypes of crackers, rockets and bombs
packed in boxes of hundreds in its tWO factories. Factory | performs the basic
assembly operation. Factory |l performs the finishing operation. For financial
reason, Factory | has only 180 urs available per week and factory Il has 120

hours available. Factory | needs 3 hours on each box of rockets and 10 hours on

each box of bombs. Factory Il needs 8 hours on box of rockets and 4 hours on
box of bombs,

The cost is Rs. 45 per box of rockets and R, 55 per box of bombs

Formulate the LPP to minimize ﬁ'ﬂw




SECTION Il

Q3. Attempt ANY FOUR of the fouowml? —
a) Write merits and demenis of Aril “‘1'T E :
B FJ”d !hE nh'_\d]_‘-lr'l 'L?f ”‘"p fl"\”l \"”t Y ld 3 T SR [ | i T-_'

(20 Marks;

o6 | 25 20.35 | 35-40 | 40-45 | 45-50 | 50. 55|
Rainfall in cms 20-25126-30 | 2

-
== I 10

" | s |

2 g | 8 [
No. of years 2 5 o : ,_
7}1 frar t_l\ i"|-IF-'1'l'_'1TEr.E pepreseniing daily wages of 11 ) &mp [JIr Y-
c} Fi nd the mode for the foliowns O
a factory : . S
—— ) e s . __T ! an - & ) ‘1:”_1_1:'[_"

Dally wages | 10 - 30
in Rs

Mo o of I 11
il ki { T
From Ih na tion, calculal to il rfn qu arlile devialion
d\ Fram the follow. ng fi equ ru,}. l.-IS i LILT'D : e -
'_H_ E 0-10 20-30 | 4G 47 43 -5
Naris =1 il
1_"’ ! e : = _? - -_1
: Z 45 | el
Ne of Students | 22 | 49 | N
: ”I.J' on of the combmed group o

=} Calculate the combined mean and standard de
300 items from the following o data -

‘[ Group | Group Il
| No of items 1040 ' .:LW
AM (1) B3 ! %
[5:D. (a) 16 S
Q4. Attempt ANY FOUR of the foliowing. (20 Marks}
a) Define the following terms wail cxamples
{) Sample Space (e} Mutualiy exciusiva evenis

bl Two unblased dice is thrown. Fitd the arphathily that
{iy Number on first die is less than number en second die.
{n) Sum of number on the two dioe s 8.
¢y If P{A)=Y2, P{B)='a , P(AUB) = 1/6 Find P{A’} and P{AD B)
d} The following table shows a Prebability Distribution of 4 Random Varable X

'[ x | - G 1 2 ] 3
A | 3

‘ PIX) 01 075 0.25 | oz | o2
Frnd o . om—l
(i) P(X>1) MEMX (i V(X)

e} Inagroup of 125 students, 70 passed in mathematics 65 pa ﬁq*-'l in statistics
and 30 passzed in both, What s the probabilty that a student setected at rando
has passed
(1) at least one subject
(11} in only one subject

@s. Attempt ANY FOUR of the following. (20 Marks)
a) For the following pay off table, suggest the best decision by using
(1) Maximax criterion '
(i) Maximin criterion
(1i1) Laplace criterion

Course States of Nature

of
Action | 81 | 82 s3 | s4

50
A2 G5 -10 85 0
A3 |85 1 |100]| 6o
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, . L ¥
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27
b) Draw a dacision tree o .. .
W5t .'js'-." Ciryy o i bl = HUWIN ) dae:,
20 Marks) best decisio o "eCis
i _,f y T -
it
| - i =
5 c
= 24 [ mn
¢
4 g __ ___ =
|92
= ) v Xamples - e
A
d) Gr Jen 'l’r— p,a -off matr
r— —— - [
| Course of
40 - 5O . Action r__ . E4
TR - 2. - 10
' | r_J Ff) ‘Iu'-L 1__2
] —a e - e |
ned Qroup o | R ! £ 1o 25
DTGUBDIHT_‘:{ | 05 04 01
e) Given the following pay-off tahle prepas

using Minimax Regret criterion

| S1 [S2 83 |84 |
[A1_ 25 [30 ]150 B0 |
[A2 745 [120(50 |13
A3 60 [10010 [-10
(20 Marks) |A4 140 (B0 |65 25 |




